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2 electron subspace:
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For 2 electrons the eigen energies are:
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We see from the multi-electron picture that          and 

terms get de-emphasized, which is not clear from MO theory.

If ‘t’ is large, we can work with MO theory and factorize the 

wavefunction.  If ‘t’ is small this is not possible.
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In general we can us ‘Schrodinger Eqn.’ for the complete system:
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H is the Hamiltonian for the complete system
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Lowest energy states:

Molecular Orbital Theory:
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Now,
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In case of non-zero interaction energy:
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Double Quantum Dots
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With t =0 and same U on both the dots we get:

With non-zero t and same U on both dots we get as before
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A more general version is:
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